
 

GROUP

WHEN ORDERING PARTS, SPECIFY MODEL NUMBER, SERIAL NUMBER AND DESCRIPTION OF PARTS REQUIRED

PAGE:

MODEL:

DATE:

FD

7.10

 7
Released 01-2016

TAG AXLE FENDERS

* ITEMS 17 & 18 ARE NOT SHOWN IN THE ILLUSTRATION

REF PART NO. DESCRIPTION QTY

29834-35 Kit, Tag Axle Fenders

1 29832 WDMT, Tube, Tag Fender, CBSD ...... 1
29833 WDMT, Tube, Tag Fender, RDSD ...... 1

2 30024 Fender, Tag Axle, Short...................... 1
3 29850 Plate, Cover, Tag Fender ................... 1
4 30034 U-Bolt, 3/8-16 X 5-5/8 W X 1.35 L...... 1
5 31126 BRKT, Tag Fender Support, RDSD .... 1

31127 BRKT, Tag Fender Support, CBSD .... 1
6 29851 Plate, Tag Axle Mud Flap ................... 1
7 11304 Mud Flap, Tag Fender ........................ 1
8 19109 Bolt, HHCS, 

3/8”-16 X 1-1/2”, PF, GR8 .................. 5
9 19148 Bolt, HHCS, 3/8”-16 X 3", 

PF, GR8.............................................. 1
10 19045 Washer, Flat, 3/8”, GR2 YZ ................ 11
11 24733 Spacer, Bridge Tag ............................. 1

REF PART NO. DESCRIPTION QTY

12 19195 Bolt, HHCS, 3/8-16 X 3-1/2, GR8 .......1
13 19353 Nut, Lock, Top, 3/8”-16, ZP, GRC .......9
14 30129 Light, Clearance/Marker, 

LED, Red, 1 X 4..................................2
15 40661 4" RND, LED, Stop/Tail/Turn Light ......1
16 40663 4" Rubber Grommet............................1
17* 23601 Plug, Fit 'N' Forget ..............................1
18* 30186 Harness, RDSD Tag FNDR, 

MRKR/STP/TRN.................................1
30187 Harness, CBSD Tag FNDR, 

MRKR/STP/TRN.................................1
19 25128 Screw, PPHM, 10-24 X 3/4” ................4
20 19298 Nut, Insert, Nylon, 10-24, ZP ..............4
21 30181 Rivet, Nylon, Push-in, 

1/4” DIA X 3/16” ..................................6

1a
1b

Click number attached to the 
part or the part numbers on 
the next pages to link to 
other parts, some parts may 
have no link

http://www.mixerandplantparts.com/Terex-29832-Trailer-Axle-Fender-Tube-Bracket-Cur-p/29832.htm
http://www.mixerandplantparts.com/Terex-29832-Trailer-Axle-Fender-Tube-Bracket-Cur-p/29832.htm
http://www.mixerandplantparts.com/Terex-29833-Trailer-Axle-Fender-Tube-Bracket-Roa-p/29833.htm
http://www.mixerandplantparts.com/Terex-29833-Trailer-Axle-Fender-Tube-Bracket-Roa-p/29833.htm
http://www.mixerandplantparts.com/Terex-Advance-30024-Short-Tag-Axle-Fender-Plasti-p/30024.htm
http://www.mixerandplantparts.com/Terex-Advance-30024-Short-Tag-Axle-Fender-Plasti-p/30024.htm
http://www.mixerandplantparts.com/Terex-Advance-Tag-Fender-Cover-Plate-p/29850.htm
http://www.mixerandplantparts.com/Terex-Advance-Tag-Fender-Cover-Plate-p/29850.htm
http://www.mixerandplantparts.com/U-Bolt-3-8-16-X-5-5-8-W-X-1-35-L-p/30034.htm
http://www.mixerandplantparts.com/U-Bolt-3-8-16-X-5-5-8-W-X-1-35-L-p/30034.htm
http://www.mixerandplantparts.com/Terex-31126-Trailer-Axle-Fender-Support-Bracket-p/31126.htm
http://www.mixerandplantparts.com/Terex-31126-Trailer-Axle-Fender-Support-Bracket-p/31126.htm
http://www.mixerandplantparts.com/Terex-31127-Trailer-Axle-Fender-Support-Bracket-p/31127.htm
http://www.mixerandplantparts.com/Terex-29851-Trailer-Axle-Mud-Flap-Bracket-p/29851.htm
http://www.mixerandplantparts.com/Terex-29851-Trailer-Axle-Mud-Flap-Bracket-p/29851.htm
http://www.mixerandplantparts.com/Terex-Advance-Mud-Flap-Tag-Fender-p/11304.htm
http://www.mixerandplantparts.com/Terex-Advance-Mud-Flap-Tag-Fender-p/11304.htm
http://www.mixerandplantparts.com/Terex-Advance-Bolt-HHCS-3-8-16-X-1-1-2-Pf-Gr8-p/19109.htm
http://www.mixerandplantparts.com/Terex-Advance-Bolt-HHCS-3-8-16-X-3-Pf-Gr8-p/19148.htm
http://www.mixerandplantparts.com/Washer-Flat-3-8-GR2-p/19045.htm
http://www.mixerandplantparts.com/Terex-Advance-Spacer-Bridge-Tag-p/24733.htm
http://www.mixerandplantparts.com/Bolt-HHCS-3-8-16-x-3-1-2-Grade-8-p/19195.htm
http://www.mixerandplantparts.com/Bolt-HHCS-3-8-16-x-3-1-2-Grade-8-p/19195.htm
http://www.mixerandplantparts.com/Nut-Lock-Top-3-8-16-Zp-Grc-p/19353.htm
http://www.mixerandplantparts.com/Terex-Advance-2X6-Red-LED-Marker-Clearance-Light-p/30129.htm
http://www.mixerandplantparts.com/Terex-Advance-2X6-Red-LED-Marker-Clearance-Light-p/30129.htm
http://www.mixerandplantparts.com/Terex-Advance-2X6-Red-LED-Marker-Clearance-Light-p/30129.htm
http://www.mixerandplantparts.com/Nut-Lock-Top-3-8-16-Zp-Grc-p/19353.htm
http://www.mixerandplantparts.com/Nut-Lock-Top-3-8-16-Zp-Grc-p/19353.htm
http://www.mixerandplantparts.com/Nut-Lock-Top-3-8-16-Zp-Grc-p/19353.htm
http://www.mixerandplantparts.com/Nut-Lock-Top-3-8-16-Zp-Grc-p/19353.htm
http://www.mixerandplantparts.com/Nut-Lock-Top-3-8-16-Zp-Grc-p/19353.htm
http://www.mixerandplantparts.com/Terex-40661-Red-Led-Light-Grommet-Mount-p/40661.htm
http://www.mixerandplantparts.com/Terex-40661-Red-Led-Light-Grommet-Mount-p/40661.htm
http://www.mixerandplantparts.com/Washer-Flat-3-8-GR2-p/19045.htm
http://www.mixerandplantparts.com/Washer-Flat-3-8-GR2-p/19045.htm
http://www.mixerandplantparts.com/Washer-Flat-3-8-GR2-p/19045.htm
http://www.mixerandplantparts.com/Washer-Flat-3-8-GR2-p/19045.htm
http://www.mixerandplantparts.com/Washer-Flat-3-8-GR2-p/19045.htm
http://www.mixerandplantparts.com/Washer-Flat-3-8-GR2-p/19045.htm
http://www.mixerandplantparts.com/Terex-Advance-Bolt-HHCS-3-8-16-X-3-Pf-Gr8-p/19148.htm
http://www.mixerandplantparts.com/Terex-Advance-Bolt-HHCS-3-8-16-X-1-1-2-Pf-Gr8-p/19109.htm
http://www.mixerandplantparts.com/Terex-Advance-Bolt-HHCS-3-8-16-X-1-1-2-Pf-Gr8-p/19109.htm
http://www.mixerandplantparts.com/Terex-Advance-Spacer-Bridge-Tag-p/24733.htm
http://www.mixerandplantparts.com/4-Rubber-Grommet-p/40663.htm
http://www.mixerandplantparts.com/4-Rubber-Grommet-p/40663.htm
http://www.mixerandplantparts.com/Terex-Advance-Plug-Fit-N-Forget-p/23601.htm
http://www.mixerandplantparts.com/Terex-30186-Harness-Roadside-Tag-Fender-Mrkr-Stp-T-p/30186.htm
http://www.mixerandplantparts.com/Harness-Curbside-Tag-Fender-Mrkr-Stp-Trn-p/30187.htm
http://www.mixerandplantparts.com/Nut-Nylon-Insert-10-24-p/19298.htm
http://www.mixerandplantparts.com/Nut-Nylon-Insert-10-24-p/19298.htm
http://www.mixerandplantparts.com/Rivet-Nylon-Push-In-1-4-Dia-X3-16-p/30181.htm
http://www.mixerandplantparts.com/Rivet-Nylon-Push-In-1-4-Dia-X3-16-p/30181.htm
Chris
Highlight




